S 87t

CLO
|_I-'EI
LR A% A = {3,609a+1}, B =| 4. n o AdFelw FF A B It A =
{b—2,6,9 12} o thstd A c Bolal BCc A ¥ {zlx=3xn}, B = {zlr=3xn+1} & o,
o, a +b O] gL& Fotoiet. e = 20 709
D1e4 @3¢A ® 4¢B
@®7¢eB ® 8eB

5+ HIEA] i
N5 ot
D 2€A4, 1B @ 3¢cA 3¢B
®5¢A, 5¢B @ 6€cA 6¢€B
®9¢A 9¢B

3. & A% 4,
JHE I2H?
A B it 6. =A% A B b n(A) = 17 n(ANB) = 6 , n(AUB) =
5 29 & of,
A% B o Qo] AE Fotol

® @
® @

7. = A% A = {0, 1, {2}, {0, 1, o)}, B =

{a7 b7 {(17 b7 C}} Oﬂ 1:]]3]-0:1 TL(A)—’I’L(B) %:’Lﬁ]-t‘lj‘?

® 5 @4 O3 @2 061




8. {1, 3} Cc X C{l, 23 4 5} &WFok A X 9 | 12.7% A = {aft 249 oF5} o FRAT F 6 ] oF
g 5 2oete 2] M€ okt

255 Totolet,

FAHAFA={-1,0 205 5 ,B={0, b+3, 3} | 13.AAHE U = {a|z= 20 0|5}9] &5} o REHUF
of tiste] AUB ={-1, 0, 2, 3, 5} , ANB = {0, 3} A, B 7} 9tk
o|7] :1%t a, b O] = A7 F-stofzt. A—-B = {711} , B— A = {9,13} , A°N B°® =

c BHEAS
FREAN A=

10.U = {20 < = < 15, 2= A4S} <]
{z|z 12 ©5k9] 29 ¥4}, B = {2,3,5,7,11,13}

of sl n ((ANB°)U (BN A®)) & F35odzt,

{1, 5, 15} & o, n(AN B) 9 g&-& o=t

14. 8472 U = {32+ 1|z < 10, 2= A} o] Fi&
A%t A, B 7} 9tk
A°n B = {28} , (AUB) — (AN B) = {4,10,19, 25}
o o, n(AN B) & Fstolzt

@ Ac B oJ9H n(A) <n(B)

® Ac Bolil BcC A°|H n(B) <n(A)




